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o 4 M R 0.4 2.8 0.8 0.12 —178
& B T ¥ W g 1.2 4.4 0.9 0.14 — 86
& e Bl i —05 0.1 — 08 —0.04 2.3
e il i i 2.6 13.7| — 20.4 — 1.03 64.6
fh oo I % & A& — 2.3 — 1.2 — 1.2 —0.17 10.7
ER BT A - KE 0.5 2.9 — 1.5 — 0.07 4.5
H hi] L) 0.4 0.1 0.3 0.00 - 0.3

_‘I‘]_



(2) FERBETAT 998 &, W

R05%D T LIE 2T,

[B17 - —exEgomx]

WiR&EH D L, N —v 213, HEMEEY CP 174 =100)
—E AR 0.9%D LR LEbO0, FEEEY — e
—E AN 0.8%D F¥%. EiEEEE)— A
BN 0.7T%D T, NEFREN 0.3%D FHE LR 4,
D, BIETIX0.4%D T & 7o T,
— i — 2 E, o —E 2N 0.7%D F
%, REFZEDN 05%0 %, FEOREFE 7 - . 5 10 1 1on
2N 04%D T, RN 0.3%D T L7220, &
KTIX0.5%D T &7 o7,
#£15 Y—vROSERIFIFLOHERE (%)
WMo — v 2o H 19 | 20| 2 1| HEHE fﬁ%%
0
v — = 2 00| —04| —05 —0.24 15.2
FEORBFEZR—E A 0.1 02| —05 —0.17 10.9
N o+ — B 2| —04] —05| —0.4 — 0.06 3.8
nooo®w % & 0.3 05| —0.3 0.00 0.1
FHEPEEY— | —04] —22| —0.8 —0.03 1.6
P AE AR — B A 07| —0.3 0.0 0.00 0.0
EEEEEY—E 2 | — 1.2 02| —0.7 — 0.04 2.3
HEBHEY — B X 0.2 0.8 0.9 0.00 —0.2
B Y — B X 0.1 0.0 0.0 0.00 0.0
— ¥ — o = 02| —04| —05 —0.18 11.4
4 | —06 05| —0.3 — 0.02 1.0
5§ =1 3 & 03| —16| —05 — 0.01 0.8
FHRORRBZRE&E| —02] —18| —04 — 0.06 3.8
f. » ¥ — v =R 0.7 1.1 —0.7 — 0.09 5.8
FEHEEYS — B R 0.1 05| —02 —0.01 0.6
=B ALBEE Y — B R 1.1 1.3 2.6 0.04 — 2.6
HEBEHEY — X 1.0 0.7 0.0 0.00 0.0
B Y — B X 1.1 1.7 — 2.3 —0.12 7.8
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6 E72amE DA T

RR2 LAF (HA7: )
W H - iva 1A 2A 3H 4A 5H 6H 7A 8H 9H 104 114 124

S 1kg 486 498 497 506 499 491 477 478 476 476 474 472
FA 100g 368 366 344 354 347 352 344 349 352 340 349 369
wE 100g 154 153 152 154 150 149 151 152 146 138 142 136
JRA (B ) 100g 158 157 157 156 156 156 156 155 153 158 157 158
o— AN 100g 334 335 336 336 335 336 335 335 333 333 337 334
BN LA 2y ik (101#) 198 197 198 194 195 190 185 192 201 207 204 213
Ty 1kg 176 165 150 219 208 132 134 149 145 126 100 107
XY 1kg 562 597 597 423 406 415 381 433 418 402 453 502
Y] 1 378 378 379 379 379 377 371 371 370 368 368 368
Iz4 100g 27 27 27 27 27 26 27 27 27 27 27 27
ST 1kg 257 278 281 285 296 299 281 285 279 266 252 268
A M 1,000g AV 174 433 444 450 429 420 409 393 384 379 394 393 374
L5 1ILADLA 333 333 333 317 317 317 307 307 307 308 296 295
AV A a—b— 100g AD 1A 637 637 673 673 650 650 650 650 641 600 600 612
5B 2LADIAR 1,216 1,216 1,203 1,203 1,197 1,197 1,168 1,169 1,170 1,170 1,169 1,166
T 1R 513 513 513 513 515 513 513 513 513 513 513 513
RLFMK FRIEFIALA4Y| 17,485 16,742 16,742 | 16,742 16,742 | 16,742 16,533 | 16,533 | 16,533 16,533 = 16,533 = 16,283
PA=YAVG i B 10m® 6,988 6,955 6,946 6,933 6,929 6,902 6,886 6,862 6,862 6,862 6,862 6,862
PR 18L 1,329 1,168 1,076 1,069 1,091 1,098 1,141 1,140 1,274 1,204 1,199 1,242
oS T R 1A 160,852 | 175,303 = 178,497 | 173,656 | 173,822 174,933 168,133 | 167,619 166,050 = 157,425 | 148,614 153,461
AT (Ftih) 18 3,330 3,330 3,330 3,313 3,313 3,313 3,313 3,313 3,295 3,295 3,293 3,293
Vel (AR LT 1% 1,303 1,303 1,303 1,303 1,303 1,303 1,303 1,303 1,303 1,303 1,303 1,305
HEEH VY V¥ a7—1L 100 104 108 111 116 119 123 124 127 125 123 122
TLE () 16 119,600 | 99,867 124,667 | 123,600 = 128,000 128,000 | 115,267 115,267 115,267 = 111,933 95,533 | 95,867
B0t (&) 1A 214 214 219 210 214 201 201 214 201 202 223 232
PRS2} 1[m] 3,613 3,613 3,613 3,613 3,613 3,613 3,613 3,613 3,613 3,613 3,613 3,613

() FI A0 DY 45 F A










E1k—1

HER10XEH

& 3 5 E3 W
s = iR
R R
X X &
£ A B 0 23 £ 9
<R B =
@ 2 O T
& | e8| #H E | B8 | & 2 )
7 I A bk 10,000 8,493 2,522 2,070 563 636 372 442
m B % 976 975 221 20 19 6 92 63
ERE 11 F£3t5| 1035 103.6 103.1  103.1 102.3 100.4 116.0 120.7
12 102.6 102.8 101.2 101.8 102.0 101.2 113.3 118.5
13 101.8 102.3 100.9 100.4 100.9 102.0 110.2 116.7
&
14 100.8 101.2 100.6 99.4 100.7 100.0 108.3 116.5
15 101.1  101.3 100.3 100.7 101.3 99.8 106.2 107.6
16 100.6 100.6 100.9 101.0 101.0 99.4 101.9 102.0
117 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 100.6 100.5 100.9 100.8 100.7 103.2 99.8 100.1
#
19 100.6 100.6 101.9 100.4 99.8 103.8 97.4 101.2
20 101.6 102.1 104.6 98.8 98.6 110.0 97.6 102.0
21 100.0 100.3 104.3 98.5 98.4 104.4 98.0 100.4
x| ERR 11 F£FH| -0.6 -0.8 -0.7 -0.2 -1.2 -1.1 -0.5 -2.4
12 -0.9 -0.8 -1.8 -1.2 -0.3 0.8 -2.4 -1.8
0] 13 -0.7 -0.5 -0.3 -1.4 -1.1 0.8 -2.1 -1.5
F 14 -1.0 -1.0 -0.3 -1.0 -0.2 -2.0 -1.17 -0.2
15 0.3 0.1 -0.3 1.3 0.6 -0.2 -1.9 -1.6
L 16 -0.5 -0.7 0.6 0.3 -0.3 -0.4 -4.1 -5.2
117 -0.6 -0.6 -0.9 -1.0 -1.0 0.6 -1.9 -2.0
5 18 0.6 0.5 0.9 0.8 0.7 3.2 -0.2 0.1
3 19 0.0 0.1 1.0 -0.4 -0.9 0.6 -2.4 1.1
20 1.0 1.5 2.6 -1.6 -1.2 6.0 0.2 0.8
(%) 21 -1.6 -1.8 -0.3 -0.3 -0.2 -5.1 0.4 -1.6




B (ERFNETHIER) |
FH175=100
2005%=100

B | = | & | & | 3 Z3 ﬁzi T
& £ | 50
e % # | 5 | B
# % B £ A
(2
E | . 2 g | B | =&
i < &
7 s |l 5 | 2 | & | & | & |=&
441 1,478 319 1,142 578 399 9,601 8,094 7 I Ak
26 44 16 85 43 61 015 514 m B %
98.2 99.6 95.4 107.1 97.7 101.4 103.6 103.6 1999 F 15
98.1 100.2 95.9 106.5 97.8 94.3 103.0 103.2 2000
98.7 99.9 97.2 104.4 98.2 96.1 102.2 102.5 2001
15
97.3 99.6 98.3 101.9 99. 1 95.9 101.0 101.4 [ 2002
100.5 100.9 98.6 102.3 99.9 98.4 101.3 101.4 | 2003
100. 6 99.5 99.2 100.7 100.0 100.6 100.6 100.5 2004
100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 2005
100.2 100.5 99.5 98.6 101.1 105.0 100.4 100.3 2006
e
101.2 100.6 100.4 96.6 101.7 107.8 100.3 100.3 2007
101.2  102.3 101.1 96.0 101.9 108.4 101.4 101.8 2008
100. 5 96.7 101.3 94.4 101.8 103.9 99.9 100.1 2009
0.0 0.3 0.0 -1.6 0.6 -4.1 -0.4 -0.5 1999 F 15 *t
-0.1 0.6 0.5 -0.6 0.1 -1.1 -0.6 -0.4 | 2000
0.6 -0.3 1.4 -2.0 0.5 2.0 -0.8 -0.7 2001 [:0}
-1.5 -0.3 1.1 -2.3 0.9 -0.3 -1.1 -1.0 | 2002 F
3.3 1.3 0.3 0.4 0.8 2.1 0.3 0.0 [ 2003
0.1 -1.4 0.7 -1.6 0.1 2.2 -0.7 -0.9 2004 L
-0.6 0.5 0.8 -0.7 0.0 -0.6 -0.6 -0.5 2005
0.2 0.5 -0.5 -1.4 1.1 9.0 0.4 0.3 2006 5
1.0 0.1 0.9 -2.0 0.6 2.1 -0.1 0.0 | 2007 b
0.0 1.7 0.7 -0.6 0.2 0.6 1.1 1.5 2008
-0.7 -5.5 0.2 -1.7 -0.1 -4.2 -1.5 -1.1 2009 (%)




Vaad LY

F1&x—2 #HEEBE10XKEZEH

@ B e ¥ E3 "

5 ] AR

Bl BE : %

£ A o3 R x i

[230p) (230 = [0

< IR < o|oK B

8 TR H

g2 |lex | # BE | Bx | @ & 1)
DI A b 10,000 8,493 2,522 2,070 563 636 372 447
m B ¥ 576 575 221 20 19 6 52 63
Erk 21 &£ 1 100. 5 100. 7 105. 2 98.9 98. 8 109. 6 98. 6 98.8
2 100. 4 100. 6 104.9 98.7 98.6 109. 4 99.2 98.0
3 100. 7 101. 1 105. 3 98.4 98.5 108. 7 99.8 100. 1
J=| 4 100. 6 100.9 105.0 98.7 98.7 107.5 99.5 103.7
5 100. 4 100. 8 105. 3 98.6 98.6 103. 6 99.8 103. 2
Al 6 100. 4 100. 7 105. 6 98.7 98.6 102.5 98.4 103. 4
e 7 99.9 100. 2 104. 2 98. 1 98.0 102.0 97.9 100. 1
8 100. 1 100. 4 105. 2 97.9 97.9 101.6 96.7 96.5
# 9 99.7 100.0 103. 8 98.3 98.2 102.0 97.6 98. 8
10 99.4 99.6 102. 8 98.4 98.7 101.7 97.4 100. 1
11 99. 1 99.2 102. 1 98.3 98. 2 102.0 95.9 100. 5
12 99.3 99.4 102. 3 98.4 98.3 102. 6 95.2 102.0
Erk 21 &£ 1 -0.6 -0.8 -0.5 0.2 0.5 1.2 -0.2 -5.5
2 -0.1 -0.1 -0.3 -0.2 -0.2 -0.2 0.6 -0.8
»f 3 0.3 0.5 0.4 -0.3 -0.1 -0.6 0.6 2.1
B 4 -0.1 -0.2 -0.3 0.3 0.2 -1.1 -0.3 3.6
= 5 -0.2 -0.1 0.3 -0.1 -0.1 -3.6 0.3 -0.5
" 6 0.0 -0.1 0.3 0.1 0.0 -1.1 -1.4 0.2
- 7 -0.5 -0.5 -1.3 -0.6 -0.6 -0.5 -0.5 -3.2
F+ 8 0.2 0.2 1.0 -0.2 -0.1 -0.4 -1.2 -3.6
b7 9 -0.4 -0.4 -1.3 0.4 0.3 0.4 0.9 2.4
(%) 10 -0.3 -0.4 -1.0 0.1 0.5 -0.3 -0.2 1.3
11 -0.3 -0.4 -0.7 -0.1 -0.5 0.3 -1.5 0.4
12 0.2 0.2 0.2 0.1 0.1 0.6 -0.7 1.5
Erk 21 &£ 1 -0.5 -0.5 2.7 -1.1 -0.3 2.0 1.9 -0.6
»f 2 0.0 -0.1 2.5 0.3 0.2 1.9 2.0 2.1
B 3 -0.2 -0.3 2.0 0.3 0.2 1.2 2.8 -1.5
& 4 -0.1 -0.2 1.2 -0.1 0.0 -1.1 2.7 -0.1
5 5 -1.3 -1.3 0.8 -0.4 -0.3 -5.0 3.0 -0.6
H 6 -1.7 -1.9 0.1 -0.2 -0.2 -71.0 1.7 2.1
7 -2.4 -2.8 -1.1 -0.7 -0.7 -9.5 0.7 0.3
£ 8 -2.6 -3.0 -0.8 -1.0 -0.8 -10.3 -0.8 -1.2
5 9 -2.9 -3.2 -1.8 -0.5 -0.1 -9.7 -0.7 -4.8
b7 10 -2.8 -3.2 -2.1 -0.4 0.4 -9.6 -1.1 -4.7
(%) 1 -2.3 -2.6 -2.1 -0.5 -0.1 -7.6 -3.0 -6.2
12 -1.8 -2.1 -3.2 -0.3 0.0 -5.3 -3.6 -2.5
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F2Xk—1 BEERDHE
7 B

nE B | A& A | & | B 1 iz
& E _[=E E |

£ A E it ) it it
% N o
‘j; <l 5 # g "

B
g |a< | | gl 8|l |l 8| 8| 2|zl w =
7 I A b+ 10,000 8,493 2,522 213 226 125 158 107 272 162 118 112 98
m B #® 576 575 221 14 31 16 9 8 44 27 19 18 17
i5 ey

ERE 15 & T ¥ 101.1  101.3 100.3 104.2 100.4 99.9 96.0 98.7 98.6 98.1 97.4 97.4 101.4
16 100.6 100.6 100.9 105.9 99.2 100.5 99.4 98.7 101.3 102.3 98.3 98.1 100.8
17 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 100.6 100.5 100.9 99.0 101.0 101.7 101.0 97.4 103.3 105.8 107.0 107.5 98.8
19 100.6 100.6 101.9 97.3 102.5 103.4 103.2 98.4 105.2 108.6 110.7 111.5 98.0
20 101.6 102.1 104.6 103.7 104.9 104.6 106.7 105.5 108.8 112.7 106.1 106.5 102.3
21 100.0 100.3 104.3 105.0 104.3 102.2 106.7 106.0 105.8 107.0 101.5 101.2 104.5
R 20 £ 1 R 101.0 101.2 102.4 98.1 101.9 103.1 105.2 96.7 109.2 115.3 106.5 107.2 98.8
2 100.4 100.7 102.3 99.7 101.0 101.8 105.9 100.3 110.3 116.8 95.2 95.3 98.5
3 100.9 101.4 103.2 100.2 102.9 105.0 106.3 102.3 111.3 118.3 99.5 99.8 99.8
4 100.7 101.1 103.8 101.1 103.9 106.2 106.2 104.8 112.5 119.6 99.5 99.7 100.1
5 101.7 102.1 104.5 102.5 104.0 106.2 106.5 105.3 110.9 115.9 106.0 106.6 101.5
6 102.1 102.7 105.5 104.7 103.8 104.8 106.3 105.4 110.1 114.8 126.4 127.8 102.4
7 102.4 103.1 105.4 106.2 106.9 106.4 106.8 106.1 107.8 110.7 111.2 111.7 103.6
8 102.8 103.5 106.0 106.4 108.2 106.7 107.2 107.6 101.9 100.2 124.5 125.6 105.4
9 102.7 103.3 105.7 106.6 107.1 104.6 107.4 109.2 110.6 114.6 102.0 102.1 102.2
10 102.3 102.9 105.6 106.3 104.7 101.3 107.7 109.4 109.6 112.7 100.7 100.7 104.9
1 101.4 101.8 104.9 106.8 106.3 103.6 107.3 109.5 103.7 103.7 98.0 97.9 104.6
12 101.1 101.5 105.7 106.3 107.5 105.6 107.3 109.5 107.6 109.7 103.7 103.8 105.4
TR 21 £ 1 R 100.5 100.7 105.2 106.0 106.1 103.1 106.6 107.5 108.8 111.3 101.0 100.9 104.4
2 100.4 100.6 104.9 105.7 105.9 102.5 107.5 106.8 105.6 105.9 100.1 99.9 106.9
3 100.7 101.1 105.3 105.7 105.1 102.3 106.1 107.1 108.4 110.4 98.5 98.2 108.4
4 100.6 100.9 105.0 106.0 106.1 105.1 105.6 106.9 110.4 114.5 95.3 94.8 105.7
5 100.4 100.8 105.3 105.6 106.3 105.6 105.8 106.9 108.9 112.0 108.9 109.1 103.9
6 100.4 100.7 105.6 105.0 105.2 103.3 106.6 107.5 106.7 108.7 117.5 118.1 106.9
7 99.9 100.2 104.2 104.8 105.9 104.8 106.2 105.5 103.4 103.1 106.4 106.4 102.1
8 100.1 100.4 105.2 104.8 104.3 102.8 107.1 107.6 110.1 114.4 107.8 107.9 104.9
9 99.7 100.0 103.8 105.1 103.0 100.1 106.2 104.4 106.6 108.8 97.7 97.3 102.5
10 99.4 99.6 102.8 104.1 101.9 98.9 107.9 104.4 100.4 98.5 100.8 100.3 101.7
1 99.1 99.2 102.1 104.1 100.0 96.5 107.6 103.7 99.6 97.2 90.5 89.6 104.0
12 99.3 99.4 102.3 103.1 102.3 101.1 107.4 104.1 100.8 99.1 92.9 92.1 102.9




e (XA - BRlE®ED FH17H=100

2005%=100

3 2
E | 3 | & | B [ o E3 3
i f&
< ® £ A
7 i w| #® -
& B B ZEN I
1=} 1=}
g | & [ 8|8 |la | B |Egs| & |s%| # | @& | £ | &
218 292 150 128 542 2,070 563 1,794 286 276 636 438 282 DI A4 k
17 17 14 8 23 20 19 3 2 17 6 3 1 m B #®
= e
103.5 98.0 106.1 100.7 100.1 100.7 101.3 100.6 101.2 101.3 99.8 102.4 103.9 |Fmk 156 & F 1§
102.0 99.4 104.9 101.4 100.6 101.0 101.0 100.9 101.0 100.9 99.4 101.4 102.3 16
100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 17
100.3 103.8 99.9 99.2 99.6 100.8 100.7 100.8 100.7 100.7 103.2 101.8 101.2 18
104.8 104.9 101.4 99.1 99.0 100.4 99.8 100.7 101.1 98.5 103.8 102.6 102.1 19
108.8 109.8 101.2 99.7 99.5 98.8 98.6 99.1 99.8 97.3 110.0 107.5 106.6 20
11.4 111.8 96.9 99.2 99.2 98.5 98.4 98.6 99.3 97.4 104.4 105.5 104.0 21
105.2 105.6 101.5 98. 6 99.2 100.0 99.1 100.4 100.7 97.4 107.5 105.1 103.8 |*Fpk 20 £ 1 A
105.3 106.2 101.4 98.3 99.2 98.4 98.4 98.5 99.4 97.4 107.4 105.1 103.8 2
106.0 106.8 101.5 99.2 99.3 98. 1 98.3 98.2 99. 1 97.4 107.4 105.1 103.8 3
106.1 107.1 101.3 99.8 99.9 98.8 98.7 99.0 99.8 97.6 108.7 106.8 106.1 4
107.5 108.7 101.3 100.1 100.0 99.0 98.9 99.2 100.1 97.6 109.1 107.1 106.1 5
109.7 108.0 100.9 100.9 99.4 98.9 98.8 99.1 100.0 97.6 110.2 107.1 106.1 6
110.2 110.1  100.7 99.9 99.9 98.8 98.7 98.9 99.8 97.5 112.7 108.6 108.3 7
110.2 112.6 100.7 99.9 99.9 98.9 98.7 99.1 99.8 97.6 113.3 108.8 108.3 8
110.3  112.2 100.7 99.9 100.0 98.8 98.3 99.1 99.8 96.8 113.0 109.0 108.3 9
111.4 112.9 102.4 100.0 99.4 98.8 98.3 99.1 99.7 96.9 112.5 109.1 108.3 10
111.3 113.8 100.6 100.1 98.9 98.8 98.3 99.1 99.7 96.9 110.4 109.1 108.3 1
111.9 113.5 100.8 100.0 98.9 98.7 98.3 99.0 99.6 96.9 108.3 108.8 108.3 12
12.1 112.8 99.5 99.6 99.1 98.9 98.8 99.0 99.6 97.8 109.6 112.8 114.6 |Fpk 21 & 1 A
112.3 112.4 100.0 99.8 99.1 98.7 98.6 98.9 99.5 97.7 109.4 112.6 114.6 2
112.3 114.2 100.2 99.9 99.1 98.4 98.5 98.5 99.2 97.7 108.7 112.5 114.6 3
11.4 112.2 99.8 99.6 99.1 98.7 98.7 98.8 99.5 97.7 107.5 111.0 112.3 4
112.6  112.0 96.3 99.3 99.3 98.6 98. 6 98.7 99.5 97.7 103.6 105.0 103.1 5
112.2  112.0 96. 3 99.2 99.8 98.7 98.6 98.8 99.5 97.7 102.5 103.3 100.6 6
110.8 111.7 96. 2 99.1 99.4 98.1 98.0 98.3 98.9 96.9 102.0 102.1 98.9 7
110.9 112.3 95.7 99.0 99.5 97.9 97.9 98.1 98.8 96.9 101.6 101.6 98.0 8
111.1  112.0 95.1 98.4 99.3 98.3 98.2 98.5 99.3 96.9 102.0 100.8 96.9 9
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0.2 -0.4 0.5 0.2 0.0 -0.2 -0.2 -0.1 -0.1 -0.1 -0.2 -0.2 0.0 2
0.0 1.6 0.2 0.1 0.0 -0.3 -0.1 -0.4 -0.3 0.0 -0.6 -0.1 0.0 3
-0.8 -1.8 -0.4 -0.3 0.0 0.3 0.2 0.3 0.3 0.0 -1.1 -1.3 -2.0 4
1.1 -0.2 -3.5 -0.3 0.2 -0.1 -0.1 -0.1 0.0 0.0 -3.6 -5.4 -8.2 5
-0.4 0.0 0.0 -0.1 0.5 0.1 0.0 0.1 0.0 0.0 -1.1 -1.6 -2.4 6
-1.2 -0.3 -0.1 -0.1 -0.4 -0.6 -0.6 -0.5 -0.6 -0.8 -0.5 -1.2 -1.7 7
0.1 0.5 -0.5 -0.1 0.1 -0.2 -0.1 -0.2 -0.1 0.0 -0.4 -0.5 -0.9 8
0.2 -0.3 -0.6 -0.6 -0.2 0.4 0.3 0.4 0.5 0.0 0.4 -0.8 -1.1 9
-0.6 -2.1 -0.2 0.3 -0.3 0.1 0.5 0.0 0.1 1.0 -0.3 0.2 0.3 10
0.1 0.7 -0.3 0.1 -0.4 -0.1 -0.5 0.0 -0.1 -0.9 0.3 0.5 0.7 11
-0.1 -0.4 -0.3 -0.3 0.0 0.1 0.1 0.1 0.1 0.1 0.6 0.5 0.8 12
x ® & R A Lt B =E (%)
6.6 6.8 -2.0 1.0 -0.1 -1.1 -0.3 -1.4 -1.1 0.4 2.0 1.3 10.4 |Fpk 21 & 1 B
6.6 5.8 -1.4 1.5 -0.1 0.3 0.2 0.4 0.1 0.3 1.9 7.1 10.4 2
5.9 6.9 -1.3 0.7 -0.2 0.3 0.2 0.3 0.1 0.3 1.2 7.0 10.4 3
5.0 4.8 -1.5 -0.2 -0.8 -0.1 0.0 -0.2 -0.3 0.1 -1.1 3.9 5.8 4
4.7 3.0 -4.9 -0.8 -0.7 -0.4 -0.3 -0.5 -0.6 0.1 -5.0 -2.0 -2.8 5
2.3 3.7 -4.6 -1.7 0.4 -0.2 -0.2 -0.3 -0.5 0.1 -7.0 -3.5 -5.2 6
0.5 1.5 -4.5 -0.8 -0.5 -0.7 -0.7 -0.6 -0.9 -0.6 -9.5 -6.0 -8.7 7
0.6 -0.3 -5.0 -0.9 -0.4 -1.0 -0.8 -1.0 -1.0 -0.7 -10.3 -6.6 -9.5 8
0.7 -0.2 -5.6 -1.5 -0.7 -0.5 -0.1 -0.6 -0.5 0.1 -9.7 -7.5 -10.5 9
-0.9 -2.9 -7.3 -1.3 -0.4 -0.4 0.4 -0.6 -0.3 1.0 -9.6 -7.4 -10.2 10
-0.7 -3.0 -6.0 -1.3 -0.3 -0.5 -0.1 -0.6 -0.4 0.1 -7.6 -7.0 -9.6 11
-1.3 -3.1 -6. 4 -1.5 -0.3 -0.3 0.0 -0.4 -0.2 0.2 -5.3 -6.3 -8.9 12
& = (%)
-3.5 -3.6 4.0 0.4 1.0 5.4 0.7 5.6 0.9 -0.2 21.7 5.1 4.5 |3FEE 208 F 1y




F2X—-—2 BERPIE

S ®
& s [ E[ 228 [ % | ¥ | % 3
) = A 7
E | z | =
£ A ? x | B | . A
7K = 8 [0
A " x5 | W H I
* | . £
Bl g |l x| B # | e | B
£ | | 8| & [ | & | #5 | 58| & | 29| 8|8
L2 A G 156 46 152 372 125 43 31 74 70 29 442 186 15
m B # 2 1 2 52 14 4 5 14 " 4 63 25 2
x @ F A ) +t 5 % (%)
R 15 & F B -0.2 4.7 0.1 -1.9 -3.5 0.7 -1.1 -4.5 -0.2 1.4 =-2.7 -5.2 0.0
16 0.0 2.5 0.7 -4.1 -9.3 -1.0 -0.2 -1.5 -1.1 0.4 -5.2 -1.9 0.0
17 -0.2 21.8 0.9 -1.9 -3.5 0.2 -2.4 0.2 -3.4 -1.2 -2.0 -3.9 0.0
18 2.9 27.0 0.0 -0.2 -2.2 1.7 -6. 1 2.0 -1.0 -1.5 0.1 2.1 -1.1
19 0.7 0.6 0.0 2.4 -4.0 -6.4 1.9 -2.9 1.1 -0.2 1.1 1.8 -1.6
20 5.2 30.0 0.4 0.2 1.4 -1.1 -0.4 -2.3 1.2 2.1 0.8 -0.3 0.0
21 -0.6 -35.6 0.3 0.4 2.1 0.3 -2.3 -0.4 -0.2 0.2 -1.6 -2.9 0.0
ERE 20 &£ 1 1.4 1.6 0.0 0.1 1.7 -0.9 -1.4 0.2 -1.5 0.0 -4.5 5.1 0.0
2 -0.1 -0.3 0.0 0.5 1.6 0.0 -0.4 0.1 0.3 0.0 -3.4 -6.6 0.0
3 0.0 0.3 0.0 -0.2 -0.6 -0.1 -0.1 -0.1 -0.2 0.0 5.8 12.8 0.0
4 0.7 -0.1 0.3 -0.2 -1.8 0.0 1.9 -0.6 0.5 3.2 2.2 -3.0 0.0
5 0.6 1.8 0.3 0.0 -0.3 0.0 -2.0 0.3 1.5 0.0 0.0 2.7 0.0
6 0.0 9.3 0.0 -0.1 -0.1 0.1 -0.2 -0.5 -0.2 0.0 -2.4 -1.6 0.0
7 0.2 11.6 0.0 0.4 0.0 0.0 2.6 0.8 0.1 0.0 -1.5 -2.5 0.0
8 0.6 3.1 0.0 0.3 0.3 0.0 0.9 0.0 1.0 0.0 -2.1 -1.5 0.0
9 0.5 -2.5 0.0 0.8 0.4 5.2 0.8 0.3 0.0 0.0 6.2 5.9 0.0
10 0.2 -4.1 0.0 0.2 0.5 0.1 0.5 -0.3 -0.3 0.0 1.2 2.5 0.0
1 0.0 -15.8 0.0 0.4 1.9 -0.1 0.0 0.6 -1.4 -0.7 2.0 3.4 0.0
12 -0.8 -16.6 0.0 -0.1 -0.7 2.0 0.0 0.1 -0.4 0.0 -2.3 -5.5 0.0
ER 21 &£ 1 -0.2 -15.5 0.0 -0.2 -0.5 -1.3 -0.2 -0.1 0.8 0.0 -5.5 -8.2 0.0
2 -0.5 -0.5 0.0 0.6 1.3 2.0 0.0 -0.2 -0.2 0.0 -0.8 -1.8 0.0
3 -0.1 -8.9 0.0 0.6 1.4 0.0 -0.2 0.2 0.8 0.0 2.1 1.2 0.0
4 -0.3 -1.0 0.1 -0.3 -0.4 0.0 -1.2 0.0 -0.3 0.0 3.6 3.0 0.0
5 -0.1 2.9 0.0 0.3 0.5 -0.1 0.0 0.0 0.6 0.0 -0.5 -2.3 0.0
6 -0.2 0.7 0.0 -1.4 -0.1 5.1 -4.9 -0.4 -1.1 0.0 0.2 -0.2 0.0
7 -0.2 3.6 0.0 -0.5 -0.4 -2.0 0.0 0.1 -0.8 0.0 3.2 -1.3 0.0
8 0.0 0.2 0.0 -1.2 -0.5 -5.6 -4.8 -0.5 0.0 0.0 -3.6 -4.5 0.0
9 0.0 10.9 0.0 0.9 1.1 4.1 5.1 -1.6 0.4 0.0 2.4 2.3 0.0
10 0.0 -4.7 0.0 -0.2 -0.2 0.2 -0.5 -0.3 -0.4 0.0 1.3 0.1 0.0
1 0.0 0.4 0.0 -1.5 4.3 -0.7 -0.2 0.2 -0.4 0.0 0.4 2.6 0.0
12 0.0 2.9 0.0 -0.7 -0.6 -2.4 0.1 -0.4 -0.4 0.0 1.5 3.6 0.0
* ® ® B A £ J® =X (%)
ER 21 &£ 1 1.8 -29.1 0.6 1.9 0.6 5.9 3.8 0.6 1.7 2.4 -0.6 -3.5 0.0
2 1.4 -29.2 0.6 2.0 0.3 8.1 4.3 0.3 1.2 2.4 2.1 1.5 0.0
3 1.3 -35.8 0.6 2.8 2.4 8.2 4.2 0.6 2.2 2.4 -1.5 -3.5 0.0
4 0.3 -36.3 0.4 2.7 3.8 8.2 0.9 1.2 1.4 -0.7 -0.1 2.5 0.0
5 -0.5 -35.6 0.1 3.0 4.7 8.1 3.0 0.9 0.5 -0.7 -0.6 -2.5 0.0
6 -0.6 -40.7 0.1 1.7 4.7 2.5 -1.8 1.0 -0.4 -0.7 2.1 -1.1 0.0
7 -1.0 -44.9 0.1 0.7 4.3 0.4 -4.3 0.3 -1.3 -0.7 0.3 0.2 0.0
8 -1.6 -46.5 0.1 -0.8 3.4 -5.2 -9.8 -0.2 2.2 -0.7 -1.2 -2.9 0.0
9 -2.1  -39.1 0.1 -0.7 4.1 -6.2 -6.0 -2.1 -1.8 -0.7 -4.8 -6.3 0.0
10 -2.3 -39.5 0.1 -1.1 3.4 -6.1 -1.0 -2.1 -2.0 -0.7 -4.7 -8.4 0.0
1 -2.3 -21.9 0.1 -3.0 -2.9 -6.7 -1.2 -2.5 -1.0 0.0 -6.2 -9.1 0.0
12 -1.5 -11.0 0.1 -3.6 -2.8 -10.8 -7.1 -3.0 -1.0 0.0 -2.5 -0.3 0.0
= 5 = (%)
ERR 21 £ OF i’>]| 0.6 16.9 -0.3 -1.0 -1.6 -0.1 0.4 0.2 0.1 0.0 4.5 3.5 0.0




M () zoosE=100
A
EY B | & RE| & | &
3 YT F | ® 5 ' | g
i ® m| R g | BE| g
w| Y o | M B | 2|l ®m | = &
&, | % " f = | BT Bl ow
AR
o P I i .
. A £ ild £ E
B (EF| || s | & | &8 | ® |z | & |[#2a|]8 |2
m 144 99 45 46 66 36 30 441 113 19 249 L2 A G
23 20 13 1 7 1 7 4 26 12 9 5 m B #
x @ £ (B ) £ B £ (%)
-5.6 -1.6 -2.6 0.8 0.2 -0.6 -2.5 0.2 3.3 0.2 -5.2 83| 15 & F 1
-8.9 -5.2 -1.3 -1.3 -0.9 -1.5 -1.4 0.4 0.1 -0.2 -2.2 1.0 16
-4.4 0.4 -0.9 3.0 0.6 -3.7 -6.5 -1.6 -0.6 0.2 -3.1 -0.4 17
2.4 -3.7 -5.6 0.4 -0.1 3.1 4.5 1.3 0.2 0.7 1.6 -0.5 18
2.1 1.9 6.8 -8.6 -0.5 -1.5 -3.2 0.7 1.0 0.0 1.8 1.3 19
-0.3 1.9 4.1 -3.1 2.3 0.3 -0.3 1.1 0.0 -1.0 0.7 0.2 20
-3.2 -2.3 -2.3 -2.17 3.2 0.8 1.3 0.2 -0.7 -3.0 -4.1 1.4 21
-5.5 -6.4 -9.0 0.6 1.5 -2.17 -5.4 0.4 -0.2 0.0 -1.0 0.0 [Frk 20 &£ 1 A
-7.1 -1.7 -2.1 0.8 0.0 -0.7 -1.2 0.0 0.0 0.0 -0.3 0.0 2
13.9 0.8 1.0 0.1 -0.3 2.6 4.5 0.4 0.0 -0.1 0.2 0.0 3
-3.2 10.9 15.2 0.1 0.6 0.1 0.2 0.0 -0.3 -0.5 -0.5 -0.1 4
2.9 -3.4 -4.4 -0.7 0.3 0.3 0.6 0.0 0.1 0.0 0.4 0.0 5
-1.17 -5.4 -1.6 0.8 0.0 0.1 0.2 0.0 0.2 1.2 -0.4 0.0 6
-2.1 -1.2 -1.3 -0.9 -0.8 0.1 0.0 0.1 -0.1 -0.8 0.3 0.0 1
-1.17 -4.6 -6.5 0.3 0.4 -0.3 -0.4 0.0 0.0 0.0 -0.1 0.1 8
6.4 1.1 16.0 -0.7 1.1 0.9 1.4 0.3 -0.1 0.4 -1.0 0.0 9
2.1 0.3 1.3 -2.6 0.0 0.5 1.0 -0.2 -0.1 0.0 -0.5 0.0 10
3.1 0.9 0.4 2.5 1.2 0.6 1.2 0.0 -1.0 -2.5 -2.2 0.0 1
-6.0 0.0 -0.3 0.5 1.3 -0.3 -0.6 0.0 0.2 0.7 0.0 0.0 12
-8.8 -6. 2 -8.0 -0.8 0.2 -0.5 -1.0 0.0 0.5 -0.3 -0.5 L1 |¥ 21 & 1 A
-2.0 0.4 0.7 -0.3 -0.4 -1.1 -1.9 0.0 -0.2 -0.7 0.1 0.0 2
8.0 -2.9 -3.5 -1.3 -0.2 1.1 2.0 0.0 -0.1 -0.5 0.1 0.0 3
3.2 7.3 10.2 -0.3 0.2 0.1 0.2 0.0 0.1 0.0 -0.4 0.3 4
-2.5 1.6 2.0 0.6 0.0 0.0 0.1 0.0 0.0 0.0 0.0 0.0 5
-0.3 0.5 0.5 0.6 0.0 0.5 0.9 0.0 -0.2 -0.3 -0.6 0.0 6
-1.4 -1.8 -9.8 -2.2 0.0 -0.8 -1.3 0.0 -0.1 -0.1 -0.1 0.0 1
-4.8 -5.3 -1.5 0.2 0.6 -0.4 -0.8 0.0 -0.2 -0.2 -0.7 0.0 8
2.4 4.4 6.7 -1.2 0.6 0.2 1.0 -0.7 0.0 0.1 -0.6 0.0 9
0.2 3.8 5.4 0.0 0.6 0.0 -0.9 1.0 -0.1 -0.2 0.0 0.0 10
2.8 -1.9 -3.0 0.6 -0.1 -0.4 -0.8 0.0 0.2 0.2 0.9 0.0 1
3.9 0.5 -0.4 3.3 -1.0 -0.3 -0.4 0.0 0.4 -1.6 0.6 1.1 12
* @ £ W A £ F £ (%)
-3.8 -0.2 0.0 -0.6 4.0 3.4 5.9 0.6 -0.6 -1.9 -4.5 L1 |¥ 21 & 1 A
1.6 2.0 3.4 -1.7 3.6 3.0 5.1 0.6 -0.8 -2.6 -4.1 1.1 2
-3.17 -1.8 -1.2 -3.0 3.7 1.5 2.6 0.2 -0.9 -3.0 -4.2 1.1 3
2.1 -4.9 -5.6 -3.5 3.3 1.5 2.6 0.2 -0.5 -2.5 -4.1 1.5 4
-2.6 -0.1 0.7 -2.2 3.0 1.2 2.1 0.2 -0.6 -2.5 -4.5 1.5 5
-1.2 6.1 9.6 -2.4 3.0 1.6 2.8 0.2 -1.0 -4.0 -4.7 1.5 6
0.1 -0.9 0.1 -3.7 3.8 0.7 1.4 0.1 -1.0 -3.3 -5.0 1.5 1
-3.1 -1.7 -1.0 -3.8 4.0 0.6 1.0 0.1 -1.2 -3.5 -5.6 1.4 8
-6.8 -1.6 -8.9 -4.3 3.4 -0.1 0.6 -0.9 -1.1 -3.8 -5.3 1.4 9
-9.1 -4.4 -5.3 -1.7 4.0 -0.6 -1.3 0.3 -1.1 -4.0 -4.8 1.4 10
-9.8 -1.0 -8.4 -3.6 2.1 -1.5 -3.2 0.3 0.1 -1.3 -1.8 1.4 1
-0.3 -6. 6 -8.5 -0.9 0.4 -1.5 -3.0 0.3 0.3 -3.6 -1.2 2.5 12
% 5 = (%)
3.5 2.2 1.5 0.7 -0.9 -0.3 -0.3 0.0 2.0 2.1 2.1 —2.2|3FEJZ 21 F F 1y




F2XR—2 HEERG

N
'
ok

77 7H
X S S
R B b1 & ES H ST ES ] ES
& % g % B | 5 | B | ®
- Y 12
B E3 . B o
# A = # 2 | B | | %
" E y_p_:l Fﬁ pi=iY ()] +
& & A - B B oo
& # A A ) E
H B & H ) % il = S Bt & LY S
YOI Ak 478 202 940 336 319 211 1 97 1,142 137 253 167 585
2 B % M 132 0 16 11 2 3 8 13 32 11 29
X m & B ) f B E (%

R 15 & F B 1.3 0.0 2.1 0.0 0.3 0.5 -0.7 0.0 0.4 1.4 0.9 0.1 0.0
16 -1.4 0.0 -1.7 -1.7 0.7 0.3 -0.2 1.7 -1.6 -18.1 -0.1 0.6 -0.5
17 0.5 -0.1 3.6 -1.5 0.8 0.9 0.0 0.6 -0.7 -12.1 1.7 0.1 -0.8
18 0.5 -0.2 2.2 -3.9 -0.5 1.1 0.6 -4.0 -1.4 -15.1 -0.3 0.7 0.8
19 0.1 0.1 1.0 -2.6 0.9 0.0 2.0 2.7 -2.0 -18.7 -3.0 0.2 1.0
20 1.7 0.6 2.7 -0.3 0.7 0.2 0.2 1.8 -0.6 -19.7 1.3 0.2 1.5
21 -5.5 -1.3 -8.0 -0.2 0.2 0.6 0.0 -0.8 -1.7 -11.0 2.2 0.3 -2.0

ERE 20 &£ 1 -0.5 0.2 -0.8 0.0 0.0 0.0 0.0 0.0 0.0 1.8 -0.3 0.0 -0.3

2 -0.4 -0.9 -0.4 -0.1 0.0 0.0 0.0 0.0 -0.7 -4.3 -0.4 -0.2 -0.5
3 0.5 0.8 0.5 0.0 0.0 0.0 0.0 0.0 0.4 -4.8 1.7 0.1 0.8
4 -3.8 -0.1 -5.6 -0.1 0.4 0.4 0.0 0.7 -0.5 -1.2 -3.9 0.0 0.9
5 4.5 0.1 6.8 0.0 0.0 0.0 0.0 0.0 0.0 1.4 -1.5 0.3 0.2
6 1.7 -0.4 2.3 0.4 0.0 0.0 0.0 0.0 0.2 -2.5 1.2 0.1 0.3
7 1.2 1.0 1.7 0.1 0.0 0.0 0.0 0.0 0.4 -3.2 0.1 -0.2 1.2
8 0.5 1.1 0.5 0.1 0.0 0.0 0.0 0.0 1.8 -3.0 1.7 0.2 2.8
9 -1.7 -1.9 -2.2 0.2 0.0 0.0 0.0 0.0 -0.7 2.7 0.8 -0.2 -1.9
10 -1.9 -0.4 -2.8 0.0 0.0 0.0 0.0 0.0 -0.3 -1.9 0.3 0.1 -0.6
1 -4.1 -0.3 -6.0 -0.2 0.0 0.0 0.0 0.0 -0.7 0.2 0.3 0.1 -1.3
12 -2.0 0.7 -3.4 0.2 0.0 0.0 0.0 0.0 0.3 -3.4 1.3 0.0 0.4

ER 21 &£ 1 -1.8 -0.1 -2.8 -0.1 0.0 0.0 0.0 0.0 -1.2 -3.3 0.3 0.0 -1.9
2 0.6 -0.6 1.1 0.2 0.0 0.0 0.0 0.0 -0.3 -5.3 0.2 -0.1 -0.2
3 0.5 0.8 0.8 -0.2 0.0 0.0 0.0 0.0 1.2 3.2 2.4 0.1 0.8
4 0.1 -1.7 0.5 0.0 0.1 0.7 0.0 -1.4 -1.4 -1.5 -1.0 0.3 -1.9
5 0.6 0.1 1.0 -0.4 0.0 0.0 0.0 0.0 -0.2 0.0 -0.9 -0.3 0.1
6 0.4 -0.5 0.7 0.0 0.0 0.0 0.0 .0 -0.3 0.0 -1.6 0.1 0.0
7 0.6 0.8 0.9 0.1 0.0 0.0 0.0 0.0 0.1 -4.0 -0.3 0.0 0.8
8 0.2 1.2 0.2 -0.8 0.0 0.0 0.0 0.0 1.8 0.2 1.4 0.1 2.6
9 0.1 -1.9 0.5 0.1 0.0 0.0 0.0 0.0 -1.7 -0.7 -2.6 -0.1 -1.8

10 -0.4 0.1 -0.5 0.0 0.0 0.0 0.0 0.0 -0.6 2.2 0.0 0.0 -0.9

1 -0.3 -0.3 -0.5 0.0 0.0 0.0 0.0 0.0 -0.5 -5.6 0.6 0.1 -0.7

12 0.0 0.8 -0.1 -0.1 0.0 0.0 0.0 0.0 0.0 -0.5 -0.8 -0.1 0.3
X @ & m A £ R E (%

ER 21 &£ 1 -1.4 -0.4 -11.4 0.5 0.4 0.4 0.0 0.7 1.1 -21.2 1.8 0.3 0.2
2 -6.5 -0.1  -10.1 0.9 0.4 0.4 0.0 0.7 -0.7 -22.0 2.4 0.4 0.5
3 -6.4 -0.1 -9.8 0.6 0.4 0.4 0.0 0.7 0.0 -15.4 3.1 0.4 0.5
4 -2.6 -1.7 -4.0 0.8 0.1 0.7 0.0 -1.4 -0.8 -15.6 6.2 0.7 2.2
5 -6.2 -1.7 -9.2 0.3 0.1 0.7 0.0 -1.4 -1.0 -16.8 6.8 0.1 -2.3
6 -1.4 -1.8 -10.6 -0.1 0.1 0.7 0.0 -1.4 -1.6 -14.7 4.0 0.1 -2.6
7 -1.9 -2.0 -11.3 -0.1 0.1 0.7 0.0 -1.4 -1.9 -15.4 3.5 0.3 -3.0
8 -8.2 -1.9 -11.6 -1.0 0.1 0.7 0.0 -1.4 -1.8 -12.6 3.3 0.2 -3.2
9 -6.5 -1.9 -9.1 -1.1 0.1 0.7 0.0 -1.4 -2.8 -15.5 -0.2 0.3 =3.1

10 -5.1 -1.4 -6.9 -1.1 0.1 0.7 0.0 -1.4 -3.1 -15.7 -0.5 0.2 -3.4
1 -1.3 -1.4 -1.5 -0.9 0.1 0.7 0.0 -1.4 -2.9 -20.6 -0.2 0.2 -2.8
12 0.7 -1.3 1.9 -1.2 0.1 0.7 0.0 -1.4 -3.2 -18.2 -2.3 0.1 -2.9
5 5 & (%
FfL 21 &£ F ®] 515 16 495 04 03 08 00 05 119 80 34 03 76
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578 132 140 73 57 176 399 9,601 2,123 8,094 397 1,224 D I A4 bk

43 6 19 9 2 7 61 515 160 514 30 85 m B %
P T - 3 ( A r B % (%)
0.8 0.2 -0.9 2.2 4.1  -0.3 2.7 0.3 -1.0 0.0 0.5 0.5 | Fm 15 £ T #
0.1 -0.2 -1.4 -0.3 3.9 0.0 2.2 -0.7 0.4 -0.9 0.6 -1.8 16
0.0 -0.1 -1.1 0.5 0.0 1.4 -0.6 -0.6 -1.0 -0.5 0.7 -0.7 17
1.1 1.9 0.0 0.6 4.6 0.6 5.0 0.4 0.1 0.3 -0.3 -1.3 18
0.6 0.2 -0.8 1.2 4.3 0.3 2.7 -0.1 0.7 0.0 0.6 -1.9 19
0.2 0.9 -1.4 1.6 0.1 0.5 0.6 1.1 3.0 1.5 0.9 -0.5 20
-0.1 -0.4 -0.4 0.5 0.0 0.2 -4.2 -1.5 0.6 -1.7 0.7 -1.7 21
0.1 0.8 -0.9 1.2 0.0 0.0 3.4 -0.3 0.0 -0.3 0.2 -0.1 | Fm 20 # 1A
-0.2 0.0 -0.9 0.0 0.0 0.0 -2.8 -0.5 0.5 -0.3 0.1 -0.8 2
0.1 0.0 0.6 0.0 0.0 0.0 2.7 0.4 0.5 0.6 0.0 0.5 3
0.0 0.0 0.0 -0.5 0.0 0.0 0.7 -0.2 0.5 -0.4 0.3 -0.4 4
0.2 0.0 1.0 0.0 0.0 0.0 0.4 0.9 0.8 1.0 0.0 -0.1 5
-0.2 0.0 -1.4 1.0 0.0 0.0 4.6 0.3 0.3 0.4 0.1 0.2 6
0.4 0.0 1.8 -0.3 0.0 0.0 -4.9 0.5 0.9 0.7 0.0 0.6 7
-0.1 0.0 -0.1 0.0 0.0 0.0 -0.1 0.4 0.7 0.4 -0.1 1.8 8
0.1 0.0 0.1 0.0 0.0 0.0 -1.4 0.0 0.0 -0.1 0.0 -1.0 9
0.0 0.0 0.4 -0.4 0.0 0.0 -2.0 -0.3 0.2 -0.3 0.1 -0.3 10
0.0 0.0 0.0 -0.4 0.0 0.0 -3.6 -0.8 -0.1 -1.0 0.0 -0.7 11
0.1 0.0 0.6 0.0 0.0 0.0 4.7 -0.5 0.1 -0.6 0.0 0.4 12
0.1 0.0 0.1 0.8 0.0 0.0 -0.9 -0.7 -0.4 -0.7 3 1.1 Fm 21 &% 1A
-0.1 0.0 -1.2 0.7 0.0 0.0 -2.6 0.1 0.2 0.0 1 -0.4 2
0.2 0.0 1.4  -0.7 0.0 0.0 1.4 0.2 0.2 0.4 -0.1 1.3 3
-0.7 0.0 -3.1 0.1 0.0 0.2 1.4 -0.2 -0.7 -0.3 0.4 -1.4 4
0.0 0.0 0.1 0.0 0.0 0.0 3.0 -0.2 -0.2 -0.3 0.0 -0.2 5
0.2 0.0 0.4 0.5 0.0 0.0 0.5 -0.1 0.2 0.0 0.0 -0.4 6
-0.1 0.0 -0.2 0.0 0.0 0.0 -46 -0.3 -0.7 -0.3 0.0 0.3 7
0.0 0.0 -0.4 0.0 0.0 0.0 4.2 0.0 0.4 0.0 0.0 1.8 8
-0.3 -1.1  -0.2 0.0 0.0 0.0 -5.6 -0.1 -0.5 -0.2 0.0 -1.7 9
0.2 0.0 1.5 -0.3 0.0 0.0 -3.7 -0.1 -0.5 -0.1 0.0 -0.6 10
-0.3 0.0 -0.7 -1.1 0.0 0.0 -42 -0.2 -0.1 -0.2 0.0 -0.6 11
0.1 0.0 0.1 0.3 0.0 0.0 3.1 0.0 -0.2 0.0 0.0 0.1 12
 ® ® B A £ 7 =X (%)
0.5 0.0 2.2 0.2 0.0 0.0 -3.1 -0.5 40 -0.3 0.8 -1.0 | g 21 &% 1A
0.6 0.0 1.9 0.9 0.0 0.0 -2.8 0.1 3.6 0.0 0.8 -0.6 2
0.7 0.0 2.1 0.2 0.0 0.0 -41 -0.1 3.3 -0.2 0.7 0.1 3
0.0 0.0 -0.5 0.8 0.0 0.2 -3.5 -0.1 2.1 -0.1 0.8 -0.8 4
-0.2 0.0 -1.4 0.8 0.0 0.2 -0.9 -1.2 1.2 -1.4 0.8 -0.9 5
0.2 0.0 0.4 0.3 0.0 0.2 -49 -1.6 1.1 -1.8 0.7 -1.6 6
-0.3 0.0 -1.5 0.6 0.0 0.2 -46 -24 -05 -2.7 0.7 -1.9 7
-0.2 0.0 -1.8 0.6 0.0 0.2 -0.5 -2.7 -0.8 -3.1 0.8 -1.8 8
-0.6 -1.1  -2.1 0.6 0.0 0.2 -47 -28 -1.2 -3.2 0.8 -2.5 9
-0.4  -1.1  -1.1 0.7 0.0 0.2 -6.3 -26 -1.9 -3.0 0.7 -2.8 10
-0.7 -1.1 -1.8 0.0 0.0 0.2 -7.0 -21 -9 -2.3 0.7 -2.7 11
-0.7 -1.1 -2.3 0.3 0.0 0.2 -84 -16 -22 -1.17 0.7 -3.0 12
F 5 B (%)

0.2 0.3 0.3 -0.2 0.0 -0.2 11.1 89.3 -1.9 85.3 -1.17 12.1 | Tk 21 & F i




FI3IX—1 HEERB -b—EZX

e T &

E & 3 % b5 1t =

x o £ x o # 0] g:ﬁ

£ A & i = & % T # B I i

K E 3 7

e | 0w | s | 2w | S| F e || *|2

& = " ® ® X

& " ) () & B 2 & ) 8 ) &
I A b 10,000 5,033 653 567 86 3,755 2,213 1,542 1,358 463 392 1,542 447
m B O 576 438 76 | 5 346 183 163 125 60 3 158 3

g 0

ER 15 &£ FE | 101.1 101.0 98.0 97.0 104.8 101.7 101.3 102.2 101.4 106.7 88.5 104.5 102.5
16 100.6 100.3 101.4 99.7 112.4 100.0 99.7 100.3 100.7 101.0 91.8 101.4 101.5
17 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 100.6 101.0 102.5 103.2 98.3 100.8 101.0 100.4 100.6 101.3 110.1 98.4 100.7
19 100.6 101.1 104.2 105.5 96.2 100.5 100.3 100.8 101.8 100.8 113.0 96. 1 101.2
20 101.6 103.4 104.7 106.4 93.5 103.2 103.0 103.6 106.3 100.9 128.5 94.9 104.1
21 100.0 100.8 101.9 103.0 94.5 100.3 97.5 104.4 107.3 100.1 102.3 93.8 102.5
FER 20&% 1A 101.0 101.9 104.2 105.9 92.6 101.5 102.0 100.8 102.6 98.6 124.9 95.5 102.3
2 100.4 101.4 102.6 104.1 92.8 101.1 101.9 100.0 103.1 95.3 123.9 95.3 102.3
3 100.9 102.4 105.0 106.9 92.4 102.1 102.2 101.9 103.8 100.7 125.0 95.1 102.3
4 100.7 101.8 105.5 107.3 93.2 101.0 100.0 102.4 104.3 101.4 114.6 94.5 103.9
5 101.7 103.5 105.6 107.5 93.2 103.2 103.4 102.9 105.4 101.3 130.6 94.8 103.8
6 102.1 104.5 108.3 110.6 92.4 104.0 104.8 103.0 106.1 100.0 138.4 94.7 103.8
1 102.4 104.9 105.0 106.7 93.6 105.0 106.0 103.6 107.3 98.9 145.2 94.7 105.2
8 102.8 105.2 105.5 107.3 93.8 105.4 106.5 103.7 108.3 96.9 147.5 94.7 105.2
9 102.7 105.3 104.9 106.6 93.9 105.6 105.4 105.8 108.1 103.1 141.4 95.0 105.2
10 102.3 104.8 104.0 105.5 94.2 105.0 104.2 106.1 108.7 104.3 132.9 94.9 105.2
11 101.4 103.1 101.6 102.6 95.0 103.2 100.6 106.9 108.6 106.2 114.3 94.8 105.2
12 101.1 102.5 104.7 106.1 95.0 101.8 98.7 106.3 108.7 103.7 102.8 94.9 105.2
FER 21 & 1 AR 100.5 101.3 103.1 104. 4 94.6 100.1 96.8 104.7 108.4 98.0 93.7 95.0 109.2
2 100.4 101.2 101.6 102.7 94.6 100.2 97.2 104.5 108.6 97.4 95.8 94.8 109.2
3 100.7 101.9 102.3 103.5 94.7 100.9 97.6 105.7 109.0 101.1 96. 4 94.9  109.2
4 100.6 101.8 102.9 104.1 94.4 100.9 97.3 106.1 108.1 104.1 98.2 94.3 107.8
5 100.4 101.5 105.0 106.6 94.5 100.9 97.5 105.7 107.6 103.2 101.0 94.2 102.0
6 100.4 101.5 105.0 106.6 94.6 101.0 98.1 105.1 107.7 103.4 102.8 93.8 100.4
1 99.9 100.5 101.5 102.6 94.3 100.4 97.9 104.0 107.0 100.0 105.5 93.5 99.3
8 100. 1 100.6 104.9 106.5 94.3 100.1 98.0 103.0 107.2 95.8 105.9 93.6 98.7
9 99.7 100.2 100.9 101.9 94.2 100.3 98.2 103.4 106.6 98.1 108.9 93.3 98.0
10 99.4 99.8 99.3 100.1 94.2 100.0 97.6 103.3 105.6 99.2 107.0 93.4 98.2
11 99.1 99.3 96.9 97.2 94.9 99.7 97.1 103.4 105.8 99.5 106.0 92.7 98.7
12 99.3 99.5 99.1 99.7 94.9 99.5 96.9 103.3 105.4 101.2 106.2 92.2 99.2




DEEH (FRXRH - AR ER) 2005%=100
FERR17F=100
7
T N =
B g w | | F
i |l 7T x| m | w| & m | m|” & #
e | TR s | 5| = 2
EX . Va £ 3] v 3] S
EE | © = | | o= | | | €
= £ 4| 4| € +
" 2 [z | = & 2 |zl flzi | =2 {z1] = 2 | &
178 4,967 3,460 1,273 44 308 263 529 43 86 3,694 542 242 7T Ak
13 138 137 44 1 9 3 21 3 1 94 23 1 m B %
= %
99.3 101.2 101.6 102.0 105.1 101.7 99.2 104.3 97.8 100.0 100.9 100.1 100.9 [Fpk 15 & F
99.9 100.8 100.9 101.2 101.8 99.0 100.0 103.8 98.9 99.9 100.7 100.6 101.0 16
100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 17
100.7 100.2 99.9 99.1 99.4 100.2 99.7 97.9 101.0 100.2 100.5 99.6 101.0 18
101.1  100.2 100.0 98.7 99.7 99.8 100.4 96.7 101.2 100.3 100.7 99.0 101.3 19
101.2 99.8 100.2 98.2 100.2 97.6 100.1 96.9 102.0 100.3 100.3 99.5 99.7 20
101.5 99.3 99.7 97.8 99.9 96.8 100.1 96.2 102.9 100.3 99.8 99.2 99.2 21
101.1  100.1 100.0 98.7 99.4 99.7 100.4 96.8 101.2 100.5 100.6 99.2 101.0 |k 20 & 1 A
101.0 99.4 99.8 98.6 99.3 99.7 100.4 96.5 101.2 100.5 99.6 99.2 99.4 2
101.0 99.4 100.0 98.7 99.2 99.7 100.4 96.8 101.2 100.5 99.6 99.3 99.1 3
101.0 99.7 100.0 97.9 99.5 96.8 100.0 96.7 102.2 100.5 100.2 99.9 99.8 4
101.3 99.8 100.1 98.1 101.5 96.9 100.0 96.8 102.2 100.5 100.4 100.0 99.9 5
101. 4 99.8 100.1 98.1 101.3 97.0 100.0 96.9 102.2 100.5 100.3 99.4 99.7 6
101.2 99.9 100.4 98.2 101.1 96.9 100.0 97.3  102.2 99.1 100.6 99.9 99.5 1
101.4 100.4 101.0 98.3 100.7 96.9 100.0 97.7 102.2 99.1 101.1 99.9 99.6 8
101.2 100.0 100.5 98.1 100.5 97.0 100.0 96.9 102.2 100.5 100.7 100.0 99.6 9
101.3 99.9 100.3 98.0 100.2 97.0 100.0 96.8 102.2 100.5 100.5 99.4 99.6 10
101. 4 99.6 99.9 98.0 100.1 96.9 100.0 96.7 102.2 100.5 100.2 98.9 99.6 "
101. 4 99.7 100.0 98.1 99.9 96.9 100.0 96.9 102.2 100.5 100.2 98.9 99.5 12
101. 4 99.6 99.9 98.1 99.8 97.1 100.0 96.9 102.2 100.5 100.1 99.1 99.6 |*FRL 21 & 1 A
101.3 99.5 99.8 98.0 99.6 97.1  100.0 96.7 102.2 100.5 100.0 99.1 99.5 2
101. 4 99.5 100.0 98.2 99.6 97.1 100.0 97.0 102.2 100.5 99.9 99.1 99.1 3
101.6 99.3 99.6 98.0 100.7 97.1  100.1 96.3 103.1 100.5 99.8 99.1 99.3 4
101. 4 99.3 99.6 97.9 100.6 97.1 100.1 96.2 103.1 100.5 99.8 99.3 99.3 5
101.5 99.4 99.7 97.8 100.3 97.1  100.1 96.0 103.1 100.5 99.9 99.8 99.4 6
101.5 99.2 99.7 97.7 100.2 96.6 100.1 96.3 103.1 99.1 99.7 99.4 98.7 1
101.6 99.5 100.1 97.7 100.0 96.6 100.1 96.4 103.1 99.1 100.1 99.5 98.6 8
101.5 99.2 99.6 97.5 99.6 96.6 100.1 95.6 103.1 100.5 99.8 99.3 99.3 9
101.5 99.1 99.4 97.5 99.6 96.6 100.1 95.7 103.1 100.5 99.7 99.0 99.3 10
101.6 98.9 99.2 97.5 99.5 96.5 100.1 95.6 103.1 100.5 99.4 98.6 99.3 "
101.5 99.0 99.3 97.6 99.3 96.5 100.1 95.8 103.1 100.5 99.6 98. 6 99.4 12




B3xR—1 BEERNM-Y—ERX 2EEH (XA - AERH KE

ES ifit * 3k N S

i3

£ | o [ B [EE| & | EX x| oa | ® o

£ A o = i = & " b
+ B B | @ e x

i | & i | & S H L -
B + M| Y £ # 23
ES E | o | = " # <
= + = +
g A 2 Z | R Z | i Bt Bt Bt & 81
Y I A b 1,508 1,402 471 151 264 516 82 681 826 3,016 1,720 4, 633
& B % 1 69 29 5 11 24 4 47 108 277 47 377
& %

TR 15 & F 9| 100.5 102.0 1046 98.9 98.6 101.6 1050 111.0 1045 99.2 101.8 101.5
16 101.0 100.7 101.3 999 99.2 101.1 112.8 103.2 100.6  99.9 101.2 100.3
17 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 100.9 1005 100.7 100.5 99.2 100.9  98.4 96.6 100.7 102.0  99.5 100.6
19 100.7 101.2 100.8 101.6 100.2 102.0 96.2  91.5 100.1 103.3  99.4 100.5
20 98.9 102.3 101.3 102.9 100.9 103.7 935 87.9 100.3 107.5 99.8 103.0
21 98.5 101.6 101.1 105.6 100.9 101.3 945 86.0 99.7 103.9  99.0 100.5

Ry 204 1 A 100.3 101.4 101.4 102.4 100.6 101.5 925 89.5 99.2 1052 99.7 101.3

2 98.4 101.2 101.4 102.4 100.6 100.9 92.7 8.1 971 1050 99.6 101.0
3 98.0 101.5 101.4 102.4 100.6 101.7 92.3 88.4 100.2 106.0 99.7 101.9
4 98.8 102.0 101.5 103.0 101.0 102.7 93.2 87.3 100.4 1050 99.5 101.1
5 99.1 102.1 101.5 103.0 101.0 103.0 93.1 88.0 100.4 107.6 99.6 102.9
6 99.0 102.2 101.5 103.0 101.0 103.3 923 87.6 99.8 109.5 99.6 103.5
7 98.8 102.9 101.5 103.0 101.0 1051 935 87.3 991 110.3 100.0 104.5
8 98.9 104.1 101.5 103.2 101.0 108.3 93.7 87.1 97.9 111.2 100.1 104.9
9 99.0 103.0 101.1 103.2 101.0 105.8 93.9 87.6 101.6 110.2 100.0 105.1
10 99.0 102.8 101.1 103.2 101.0 105.1 94.2 87.6 102.3 109.1  99.9 104.7
11 99.0 102.1 101.1 103.2 101.0 103.4 950 87.7 103.4 106.0 99.9 103.2
12 98.9 102.3 101.1 103.2 101.0 1040 950 87.6 102.1 1053  99.9 102.1
ERy 21 & 1 A| 98.9 101.9 101.5 105.1 101.0 101.7 945 87.1 98.9 103.8 101.0 100.9
2 98.8 101.8 101.5 105.1 101.0 101.4 945 87.0 986 103.8 100.9 101.1
3 98.4 102.1 101.5 105.1 101.0 102.3 946 87.5 100.6 104.1 101.0 101.6
4 98.7 101.3 101.5 105.5 100.9 100.2 943 865 102.2 1040 100.5 101.4
5 98.5 101.4 101.5 105.5 100.9 100.3 945 86.6 101.5 104.6  99.0 100.9
6 98.7 101.3 101.5 105.5 100.9 100.3 945 86.0 101.5 1049 985 100.8
7 98.1 101.7 101.0 105.5 100.9 101.5 945 855 996 1041 981 100.2
8 98.0 102.8 101.0 105.5 100.9 1045 945 855 97.4 1050 98.0  99.9
9 98.3 101.7 100.7 105.5 100.9 102.0 944 8.7 986 1041 97.6 100.0
10 98.3 101.4 100.7 105.5 100.9 101.0 944 858 99.0 103.2 97.7  99.8
11 98.3 100.9 100.2 1055 100.9 100.1 948 845 991 1025 97.8 99.7
12 98.4 101.2 100.1 107.3 100.9 100.6 94.8 84.2 99.8 102.7 98.0  99.7




20054 =100

$3k—2 RERM-Y—LR SBERERY-ARLERE) D0F=10

& = T S

£ Tt & # b 1t =

x o |« [ ] * | u o | x

£ B < it B & :JJE T # # I ﬂi

K ES = 7

g | m | & | B e | g | T | w|a|F|A

& = .| # ® K

& ) & ) & & & & & & & &

DI Ak 10,000 5,033 653 567 86 3,755 2,213 1,542 1,358 463 392 . 542 447
s B 576 438 76 71 5 346 183 163 125 60 3 158 3

oA E(R) £ 5 E (%

ERE 15 F FE B 0.3 -0.5 2.6 2.4 3.8 -1.1 -0.9 -1.3 -2.0 -2.8 25 -0.6 -0.6
16 -0.5 -0.7 3.5 2.8 7.2 -1.7 -1.6 -1.9 -0.6 -5.4 3.7 -2.9 -1.0
17 -0.6 -0.3 -1.4 0.3 -11.1 0.0 0.3 -0.3 -0.7 -0.9 9.0 -1.4 -1.5
18 0.6 1.0 25 3.2 -1.7 0.8 1.0 0.4 0.6 1.3 10.1 -1.6 0.7
19 0.0 0.1 1.7 2.2 =21 -0.3 -0.7 0.4 1.2 -0.5 2.6 -2.3 0.5
20 1.0 2.3 0.5 0.9 -2.8 2.7 2.7 2.8 44 0.1 13.7 -1.2 2.9
21 -1.6 -2.5 -2.7 -3.2 1.1 -2.8 -5.3 0.8 0.9 -0.8 -20.4 -1.2 -1.5

ER 20 & 1 -0.2 -0.2 1.1 1.1 0.1 -0.5 0.0 -1.2 0.3 -4.4 -1.0 0.2 0.8

2 -0.6 -0.5 -15 -1.7 0.2 -04 -0.1 -0.8 0.5 -3.3 -0.8 -0.2 0.0
3 0.5 1.0 2.3 2.7 -0.4 1.0 0.3 19 0.7 5.7 09 -0.2 0.0
4 -0.2 -0.6 0.5 04 0.9 -1.1 -2.2 0.5 0.5 0.7 -8.3 -0.6 1.6
5 1.0 1.7 0.1 0.2 0.0 2.2 3.4 0.5 1.1 -0.1 14.0 0.3 -0.1
6 04 1.0 2.6 2.9 -0.9 0.8 1.4 0.1 0.7 -1.3 6.0 -0.1 0.0
7 0.3 0.4 -3.0 -3.5 1.3 1.0 1.1 0.6 1.1 -1.1 49 0.0 1.3
8 04 0.3 0.5 0.6 0.2 0.4 0.5 0.1 09 =20 1.6 0.0 0.0
9 -0.1 0.1 -0.6 -0.7 0.1 0.2 -1.0 2.0 -0.2 6.4 -4.1 0.3 0.0
10 -04 -0.5 -0.9 -1.0 0.3 -0.6 -1.1 0.3 0.6 1.2 -6.0 -0.1 0.0
11 -0.9 -1.6 -2.3 -2.7 0.8 -1.7 -3.5 0.8 -0.1 1.8 -14.0 -0.1 0.0
12 -0.3 -0.6 3.1 3.4 0.0 -1.4 -1.9 -0.6 0.1 -24 -10.1 0.1 0.0

ER 21 & 1 -0.6 -1.2 -15 -1.6 -0.4 -1.7 -1.9 -15 -0.3 -5.5 -8.9 0.1 3.8
2 -0.1 -0.1 -15 -1.6 0.0 0.1 04 -0.2 0.2 -0.6 2.2 -0.2 0.0
3 0.3 0.7 0.7 0.8 0.1 0.7 04 1.1 0.4 3.8 0.6 0.1 0.0
4 -0.1 -0.1 0.6 0.6 -0.3 0.0 -0.3 04 -0.8 3.0 1.9 -0.6 -1.3
5 -0.2 -0.3 2.0 2.4 0.1 0.0 0.2 -0.4 -0.5 -0.9 29 -0.1 -54
6 0.0 0.0 0.0 0.0 0.1 0.1 0.6 -0.6 0.1 0.2 1.8 -0.4 -1.6
7 -0.5 -1.0 -3.3 -3.8 -0.3 -0.6 -0.2 -1.0 -0.6 -3.3 2.6 -0.3 -1.1
8 0.2 0.1 3.3 3.8 0.0 -0.3 0.1 -1.0 0.2 -4.2 04 0.1 -0.6
9 -0.4 -0.4 -3.8 -43 -0.1 0.2 0.2 04 -0.6 2.4 2.8 -0.3 -0.7
10 -0.3 -04 -1.6 -1.8 0.0 -0.3 -0.6 -0.1 -0.9 1.1 -1.7 0.1 0.2
11 -0.3 -0.5 -24 -2.9 0.7 -0.3 -0.5 0.1 0.2 0.3 -0.9 -0.7 0.5
12 0.2 0.2 2.3 2.6 0.0 -0.2 -0.2 -0.1 -0.4 1.7 0.2 -0.5 0.5

B ER B LS E (%)

ER 21 & 1 -0.5 -0.6 =11 -14 2.2 -14 -5.1 3.9 5.7 -0.6 -25.0 -0.5 6.7
2 0.0 -0.2 -1.0 -1.3 1.9 -0.9 -4.6 45 5.3 2.2 -22.7 -0.5 6.7
3 -0.2 -0.5 -2.6 -3.2 2.5 -1.2 -4.5 3.7 5.0 0.4 -22.9 -0.2 6.7
4 -0.1 0.0 -25 -3.0 1.3 -0.1 -2.7 3.6 3.6 2.7 -14.3 -0.2 3.8
5 -1.3 -1.9 -0.6 -0.8 14 -2.2 -5.7 2.7 2.1 19 -22.7 -0.6 -1.7
6 -1.7 -2.9 -3.0 -3.6 2.4 -2.9 -6.4 2.0 1.5 3.4 -25.7 -1.0 -3.3
7 -2.4 -4.2 -3.3 -3.8 0.7 -44 -7.6 04 -0.3 1.1 -27.3 -1.3 -5.6
8 -2.6 -4.4 -0.6 -0.7 0.5 -5.0 -8.0 -0.7 -1.0 -1.1 -28.2 -1.2 -6.2
9 -2.9 -48 -3.8 4.4 0.3 -5.0 -6.8 -2.3 -14 -48 -23.0 -1.8 -6.8
10 -2.8 -4.8 -45 -5.1 0.0 -48 -6.3 -2.6 -2.9 -49 -19.5 -1.6 -6.7
11 -2.3 -3.7 -4.6 -5.3 -0.1 -34 -3.5 -3.3 -2.6 -6.3 -7.3 -2.2 -6.2
12 -1.8 -29 -5.3 -6.0 -0.1 -2.3 -1.8 -2.8 -3.0 -24 3.3 -2.8 -5.7

H 5 £ (%)
ER 21 &£ F tﬁ]l 100.0 848 11.6 121 -0.5 69.0 76.7 -7.8 -8.6 2.3 64.6 10.7 45




FEIXK—2 BHERE-Y—EX HEEM
H
i ) =
K " E2S =
® - s E3 EE | E& | &% E%
£ 7 el v = ol B x| v &
i R g | W | & E| B | &
E Bl = | | = =N
ES N + 5 M| v & %
EE | ¢ EX | & & | & | €
% £ 4 4| E +
L7 s Py A = S Z | Z | Z Z | 2 B =
DI Ak 178 4,967 3,460 1,273 44 308 263 529 43 86 3,694 542 242
& B #% 13 138 137 44 1 9 3 21 3 7 94 23 1
HEE (A) £ 8 E (%

ERE 15 &£ ¥ 0.0 1.3 1.1 1.3 -3.9 -0.1 7.5 0.2 1.4 0.0 1.2 0.1 2.1
16 0.6 -0.4 -0.7 -0.8 -3.1 -2.6 0.8 -0.5 1.1 -0.1 -0.2 0.5 0.1
17 0.1 -0.8 -0.9 -1.2 -1.8 1.0 0.0 -3.6 1.1 0.1 -0.7 -0.6 -1.0
18 0.7 0.2 -0.1 -0.9 -0.6 0.2 -0.3 -2.1 1.0 0.2 0.5 -0.4 1.0
19 0.4 0.0 0.1 -0.4 0.3 -0.4 0.7 -1.2 0.2 0.1 0.2 -0.6 0.3
20 0.1 -0.4 0.2 -0.5 0.5 -2.2 -0.3 0.2 0.8 0.0 -0.4 0.5 -1.6
21 0.3 -0.5 -0.5 -0.4 -0.3 -0.8 0.0 -0.7 0.9 0.0 -0.5 -0.3 -0.5

SERE 20 & 1 A 0.0 -0.1 -0.1 0.0 -0.1 0.0 0.0 0.0 0.0 0.0 -0.1 -0.2 -04

2 -0.1 -0.7 -0.2 -0.1 -0.1 0.0 0.0 -0.3 0.0 0.0 -1.0 0.0 -1.6
3 0.0 0.0 0.2 0.1 -0.1 0.0 0.0 0.3 0.0 0.0 0.0 0.1 -0.3
4 0.0 0.3 0.0 -0.8 0.3 -2.9 -0.4 -0.1 1.0 0.0 0.6 0.6 0.7
5 0.3 0.1 0.1 0.2 2.0 0.1 0.0 0.1 0.0 0.0 0.2 0.1 0.1
6 0.1 0.0 0.0 0.0 -0.2 0.1 0.0 0.1 0.0 0.0 -0.1 -0.6 -0.2
7 -0.2 0.1 0.3 0.1 -0.2 -0.1 0.0 04 0.0 -1.4 0.3 0.5 -0.2
8 0.2 0.5 0.6 0.1 -04 0.0 0.0 0.4 0.0 0.0 0.5 0.0 0.1
9 -0.2 -0.4 -0.5 -0.2 -0.2 0.1 0.0 -0.8 0.0 1.4 -0.4 0.1 0.0
10 0.1 -0.1 -0.2 -0.1 -0.3 0.0 0.0 -0.1 0.0 0.0 -0.2 -0.6 0.0
11 0.1 -0.3 -0.4 0.0 -0.1 -0.1 0.0 -0.1 0.0 0.0 -0.3 -0.5 0.0
12 0.0 0.1 0.1 0.1 -0.2 0.0 0.0 0.2 0.0 0.0 0.0 0.0 -0.1

SERR 21 & 1 A 0.0 -0.1 -0.1 0.0 -0.1 0.2 0.0 0.0 0.0 0.0 -0.1 0.2 0.1
2 -0.1 -0.1 -0.1 -0.1 -0.2 0.0 0.0 -0.2 0.0 0.0 -0.1 0.0 -0.1
3 0.1 0.0 0.2 0.2 0.0 0.0 0.0 0.3 0.0 0.0 -0.1 0.0 -0.4
4 0.2 -0.2 -0.4 -0.2 1.1 0.0 0.1 -0.7 0.9 0.0 -0.1 0.0 0.2
5 -0.2 0.0 0.0 -0.1 -0.1 0.0 0.0 -0.1 0.0 0.0 0.0 0.2 0.0
6 0.1 0.1 0.1 -0.1 -0.3 0.0 0.0 -0.2 0.0 0.0 0.1 0.5 0.1
7 0.0 -0.2 0.0 -0.1 -0.1 -0.5 0.0 0.3 0.0 -1.4 -0.2 -0.4 -0.7
8 0.1 0.3 0.4 0.0 -0.2 0.0 0.0 0.1 0.0 0.0 0.4 0.1 -0.1
9 -0.1 -0.3 -0.5 -0.2 -0.4 0.0 0.0 -0.8 0.0 1.4 -0.3 -0.2 0.7
10 0.0 -0.1 -0.2 0.0 0.0 0.0 0.0 0.1 0.0 0.0 -0.1 -0.3 0.0
11 0.1 -0.2 -0.2 0.0 -0.1 -0.1 0.0 -0.1 0.0 0.0 -0.3 -0.4 0.0
12 -0.1 0.1 0.1 0.1 -0.2 0.0 0.0 0.2 0.0 0.0 0.2 0.0 0.1

H B ERBE R E (%

SERR 21 & 1 A 0.3 -0.5 -0.1 -0.6 0.4 -2.6 -0.4 0.1 1.0 0.0 -0.5 -0.1 -14
2 0.3 0.1 0.0 -0.6 0.3 -2.6 -0.4 0.2 1.0 0.0 04 -0.1 0.1
3 0.4 0.1 0.0 -0.5 0.4 -2.6 -0.4 0.2 1.0 0.0 0.3 -0.2 0.0
4 0.6 -0.4 -0.4 0.1 1.2 0.3 0.1 -0.4 0.9 0.0 -0.4 -0.8 -0.5
5 0.1 -0.5 -0.5 -0.2 -0.9 0.2 0.1 -0.6 0.9 0.0 -0.6 -0.7 -0.6
6 0.1 -0.4 -0.4 -0.3 -1.0 0.1 0.1 -0.9 0.9 0.0 -0.4 0.4 -0.3
7 0.3 -0.7 -0.7 -0.5 -0.9 -0.3 0.1 -1.0 0.9 0.0 -0.9 -0.5 -0.8
8 0.2 -0.9 -0.9 -0.6 -0.7 -0.3 0.1 -1.3 0.9 0.0 -1.0 -0.4 -1.0
9 0.3 -0.8 -0.9 -0.6 -0.9 -0.4 0.1 -1.3 0.9 0.0 -0.9 -0.7 -0.3
10 0.2 -0.8 -0.9 -0.5 -0.6 -0.4 0.1 -1.1 0.9 0.0 -0.8 -0.4 -0.3
11 0.2 -0.7 -0.7 -0.5 -0.6 -0.4 0.1 -1.1 0.9 0.0 -0.8 -0.3 -0.3
12 0.1 -0.7 -0.7 -0.5 -0.6 -0.4 0.1 -1.1 0.9 0.0 -0.6 -0.3 -0.1

F 5 £ (%)
ERR 21 & OFE #) | -0.3 15.2 10.9 3.8 0.1 1.6 0.0 2.3 -0.2 0.0 114 1.0 0.8




(FEXRR- BRI ERER) 20054 =100
X

ERE174 =100
* it : JE 2 3
it
¥ | m ® | = H % A
" & i | # 5 A A "
g | | v | B| v | = 2 P
— g I P | P # # <
* £ 4 | B +
g R Z Z | 2 Z | ) Bt Bt Bt £l Bt
1,508 1,402 47 151 264 516 82 681 826 3,016 1,720 4,633 DI Ak
1 69 29 5 11 24 4 47 108 277 47 377 B #
@ F (BA) £ 7 F (%)
1.6 1.3 33 2.9 0.2 -0.2 32 -0.9 -2.2 -0.1 0.8 08 |THK 158 F B
05 -13 -3.1 1.1 0.7 -05 74 -70 -38 0.7 -0.6 -1.1 16
-1.0 -0.7 -1.3 0.1 0.8 -10 -113 -3.1 -0.6 0.1 -1.2 -0.3 17
0.9 05 0.7 05 -0.8 0.9 -1.6 -3.4 0.7 20 -05 0.6 18
-0.2 0.7 0.1 1.1 1.0 1.1 -2.2 -5.3 -0.6 1.3 -0.1 -0.1 19
-1.8 1.1 05 1.3 0.7 1.7 -2.8 -3.9 0.2 4.1 0.4 25 20
-0.4 -0.7 -0.2 26 0.0 -2.3 1.1 -2.2 -0.6 -3.3 -0.8 -2.4 21
-0.2 0.0 0.3 0.0 0.0 -0.2 0.1 0.2 -1.9 0.1 0.3 -05[FK 204% 1 A
-1.9 -0.2 0.0 0.0 0.0 -0.6 0.2 -0.4 -2.1 -0.2 -0.1 -0.3 2
-0.4 0.3 0.0 0.0 0.0 0.8 -0.4 -0.8 3.2 1.0 0.1 0.9 3
0.8 05 0.1 0.6 0.4 1.0 1.0 -1.2 0.2 -0.9 -0.2 -0.8 4
0.3 0.1 0.0 0.0 0.0 0.3 -0.1 0.8 0.0 25 0.1 18 5
-0.1 0.1 0.0 0.0 0.0 0.3 -0.9 -05 -0.6 18 0.0 0.6 6
-0.2 0.7 0.0 0.0 0.0 1.7 1.3 -0.3 -0.7 0.7 0.4 1.0 7
0.1 1.2 0.0 0.2 0.0 3.0 0.2 -0.2 -1.2 0.8 0.1 0.4 8
0.1 -1.1 -0.4 0.0 0.0 -2.3 0.2 0.6 38 -0.9 -0.1 0.2 9
0.0 -0.2 0.0 0.0 0.0 -0.7 0.3 0.0 0.7 -1.0 -0.1 -0.4 10
0.0 -0.7 0.0 0.0 0.0 -1.6 038 0.1 1.1 -2.8 0.0 -1.4 11
-0.1 0.2 0.0 0.0 0.0 0.6 0.0 -0.1 -1.3 -0.7 0.0 -1.1 12
0.0 -0.4 0.4 1.8 0.0 -2.2 -0.5 -0.6 -3.1 -14 1.1 -12|FK 21 & 1 A
-0.1 -0.1 0.0 0.0 0.0 -0.3 0.0 -0.1 -0.3 0.0 -0.1 0.2 2
-0.4 0.3 0.0 0.0 0.0 0.9 0.1 0.6 2.0 0.3 0.1 05 3
0.3 -0.8 0.0 0.4 -0.1 -2.1 -0.3 -1.1 16 -0.1 -05 -0.2 4
-0.2 0.1 0.0 0.0 0.0 0.1 0.2 0.1 -0.7 0.6 -15 -0.5 5
0.2 -0.1 0.0 0.0 0.0 0.0 0.0 -0.7 0.0 0.3 -05 -0.1 6
-0.6 0.4 -05 0.0 0.0 1.2 0.0 -0.6 -1.9 -0.8 -0.4 -0.6 7
-0.1 1.1 0.0 0.0 0.0 3.0 0.0 0.0 -2.2 0.9 -0.1 -0.3 8
0.3 -1.1 -0.3 0.0 0.0 -2.4 -0.1 0.2 1.2 -0.9 -0.4 0.1 9
0.0 -0.3 0.0 0.0 0.0 -1.0 0.0 0.1 0.4 -0.9 0.1 -0.2 10
0.0 -0.5 -05 0.0 0.0 -0.9 0.4 -15 0.1 -0.7 0.1 -0.1 11
0.1 0.3 -0.1 1.7 0.0 05 0.0 -0.4 0.7 0.2 0.2 0.0 12
@ FE R A L F E (%
-14 05 0.1 26 0.4 0.2 2.2 -2.7 -0.3 -1.3 1.3 -04 (FK 21 & 1 A
0.4 0.6 0.1 26 0.4 05 1.9 -2.4 15 -1.1 1.3 0.1 2
0.4 0.6 0.1 26 0.4 0.6 25 -1.0 0.4 -1.8 1.3 -0.3 3
-0.1 -0.7 0.0 24 -0.1 -24 1.2 -0.9 18 -1.0 1.0 0.3 4
-0.6 -0.7 0.0 24 -0.1 -2.6 15 -1.6 1.1 -2.8 -0.6 -1.9 5
-0.3 -0.9 0.0 24 -0.1 -2.9 24 -18 1.7 -4.2 -1.1 -2.6 6
-0.7 -1.2 -05 24 -0.1 -34 1.1 -2.1 05 -5.6 -1.9 -4.1 7
-0.9 -1.2 -0.5 2.2 -0.1 -35 0.9 -1.8 -0.5 -5.6 -2.1 -4.8 8
-0.7 -13 -0.4 22 -0.1 -3.6 05 -2.2 -30 -55 -2.4 -4.9 9
-0.7 -14 -0.4 2.2 -0.1 -3.9 0.2 -2.1 -3.2 -5.4 -2.2 -4.7 10
-0.7 -1.2 -0.9 22 -0.1 -3.2 -0.2 -3.6 -4.2 -33 -2.1 -34 11
-0.5 -1.1 -1.0 40 -0.1 -3.3 -0.2 -3.9 -2.3 -2.5 -1.9 -2.4 12
F 5 £ (%)
38 58 0.6 -2.6 0.0 7.8 -0.5 8.1 3.1 68.4 8.7 73.0 |4:ﬁJz 21 & 0B




Fak TFTHRITEEEHFR

#® B
<Fr E34 # | L % e i
= X T F 34 T T 3
Jo) ; HEI
i i ¥ ¥
E “ 5 - ]
% /ﬁ T u*
a Ak # i i iy i ] 3 *x L7 L) #
JIAk 10, 000 8,493 2,522 213 226 125 158 107 272 162 118 112 98
fn B ¥ 576 575 221 14 31 16 9 8 44 21 19 18 17
& o

BB 60 F£ Tty 89.0 90.8 90.0 97.6 93.9  102.4 91.9 105.9 76.9 75.1 92.1 91.3 107.0

61 89.6 91.0 90.0 98.3 93.8 101.9 90.3 104.5 76.7 74.9 86.4  85.1 106.7
62 89.9 91.0 89.3 98.0 92.4 98.0 88.4  92.9 86.3 75.1 83.6 82.1 104.4
63 90.5 91.5 90.2 97.1 91.4 94.2 87.6 92.9 85.3 87.3 84.6 83.3 101.8

FER 1 EFY 92.6 93.5 92.0 98.6 91.6 93.1 88.0 96.4 84.2 84.2 92.9 91.7 103.8

2 95.2 96.0 94.7  100.0 94.6 98.4 89.3 100.6 92.4  96.4 100.0 99.0 105.0
3 98.1 98.9 98.3  102.0 98.2 101.9 92.7 107.7 102.3 109.5 108.1 107.0 110.3
4 99.8  100.6 99.1 104.9 99.7  100.9 93.0 105.5 92.7 91.5 110.6 109.3 115.1
5 101.2  102.0  100.1 107.6 99.1 99.2 94.1  105.2 97.5 99.2 99.2 97.5 115.3
6 102.1 102.7 100.9  118.4 97.6 97.4 94.0 104.3 97.2 97.4  96.6 95.0 1151
7 101.9  102.3 99.6  105.7 97.5 97.4 94.1  105.8 94.2 92.6 104.0 102.6 112.9

8 101.8 102.0 99.3 104.7 98.9 100. 6 94.9  105.3 91.7 88.7 104.8 103.4 110.5
9 103.8 104.0  101.8 104.4  103.5 104. 4 98.1 105.7 91.7 88.1 105.4 1041 112.2
10 104.1 104.4  103.8 103.3 106.0  107.2 99.9 104.6 103.2 105.7 106.0 104.6 111.8
1 103.5 103. 6 103.1 103.8 105. 2 106. 8 98.8 105.5 96. 6 94.9 107.1 105.7 111.7
12 102. 6 102.8 101.2 102.1 101.8 102.7 96.1 105.3 90.6 86.4 97.0 96.4 111.4
13 101.8 102.3 100. 9 102.1 102.1 100. 1 95.0 103.7 94.2 91.5 99.0 98.8 109.1
14 100. 8 101.2 100. 6 102.8 102.4  100.8 94.9 102.5 94.9 92.2 95.7 95.7 104.5
15 101.1 101.3 100. 3 104. 2 100. 4 99.9 96.0 98.7 98.6 98.1 97.4 97.4 101.4
16 100. 6 100. 6 100. 9 105.9 99.2 100. 5 99.4 98.7 101.3 102.3 98.3 98.1 100.8
17 100.0  100.0  100.0  100.0  100.0  100.0  100.0 100.0 100.0 100.0 100.0 100.0 100.0
18 100. 6 100. 5 100. 9 99.0 101.0  101.7 101.0 97.4 103.3 105.8 107.0 107.5 98.8
19 100. 6 100. 6 101.9 97.3 102.5 103.4  103.2 98.4 105.2 108.6 110.7 111.5 98.0
20 101.6 102.1 104. 6 103.7 104.9 104. 6 106.7 105.5 108.8 112.7 106.1 106.5 102.3
21 100.0  100.3 104.3 105.0  104.3 102. 2 106.7 106.0 105.8 107.0 101.5 101.2 104.5




hOE-FFIER

ERL17%E=100
2005% =100
5= H £r b o & E3 &% * E
" ’ g E| & =
E x| & | B g
b » o | &
B B
F R ®E | = 5 | & | & &
B = =
= =1 “ x A
L] i o L] B & Bk =i =1 # B A AN
218 292 150 128 542 2,070 563 1,794 286 276 636 438 282 | ™ IA k
17 17 14 8 23 20 19 3 2 17 6 3 1 mEH
15 #

90.2 97.0  99.8 94.5 82.4 75.3 76.5 75.3 76.9 76.1  103.9 117.7 141.8 BB 60 &£Fiy

91.2 98.0 102.7 94.6 83.0 78.2 78.9 78.4  80.2 77.6 99.1 113.0 134.4 61
91.4  97.9 102.1 94.7 84.0  80.5 80.7 80.9 82.8 18.7 93.0 106.4 123.4 62
91.0 97.4  99.9 94.7 85.1 83.4 82.8 84.0  86.1 79.8 90.3 103.8 120.5 63

92.2 99.6 99.9 95.3 88.4  86.7 86.7 87.5 90.4 83.0 91.0 102.7 117.4 [Fpk 1 &£Fy
93.9 100.5 100.9 97.7 89.7 89.3 89.3 90.0  92.3 86.4 945 103.7 116.2 2

96.2 100.9 106.0  99.7 91.3 93.1 95.4  92.4 947 95.8 97.2 106.2 116.2 3
96.8 102.8 109.7 100.0  94.8 96.5 98.7 95.6 97.1  100.0 97.6 106.9 116.2 4
98.9 103.6 111.8 100.1 96.0 98.2 100.4 97.3 98.4 102.1 99.0 107.2 115.9 5
99.7 101.3 111.8 101.8 96. 7 99.5 101.7 98.5 99.7 103.4 98.8 106.1 114.4 6
99.3 98.7 112.2 102.2 96.8 101.5 102.7 101.2 102.5 102.6 98.9 106.2 114.2 7
97.9 99.2 111.7 101.6 96.8 102.7 103.6 102.5 103.9 103.1 98.8 105.4 111.6 8
103.4 101.4 113.4 102.0 100.8 104.3 104.9 104.2 105.5 104.0 102.9 109.6 115.9 9
106.2 101.6 1143 102.6 101.2 103.3 103.5 103.0 103.0 103.8 101.5 107.6 111.7 10
106.7 102.1 1146 102.9 101.4 103.1 102.3 102.9 101.7 102.8 100.4 106.3 109.4 11
106.2 102.8 1149 103.1 100.6 101.8 102.0 101.6 101.3 102.6 101.2 106.8 110.4 12
106.1 101.2 111.0 102.3 99.6 100.4 100.9 100.1 99.8 101.6 102.0 106.1 109.6 13
105.6 101.3 108.3 101.6 100.0  99.4 100.7 99.0 99.7 101.3 100.0 103.1 105.0 14
103.5 98.0 106.1 100.7 100.1 100.7 101.3 100.6 101.2 101.3 99.8 102.4 103.9 15
102.0  99.4 1049 101.4 100.6 101.0 101.0 100.9 101.0 100.9 99.4 101.4 102.3 16
100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 17
100.3  103.8 99.9 99.2 99.6 100.8 100.7 100.8 100.7 100.7 103.2 101.8 101.2 18
104.8 104.9 101.4  99.1 99.0 100.4 99.8 100.7 101.1 98.5 103.8 102.6 102.1 19
108.8 109.8 101.2 99.7 99.5 98.8 98.6 99.1 99.8 97.3 110.0 107.5 106.6 20
1114 111.8 96.9 99.2 99.2 98.5 98.4  98.6 99.3 97.4 104.4 105.5 104.0 21




FA4R TRI7TEEERER
¢ 1th i3 = E3 = B E3 E3 E3 Fid
pal = iR 0
= E | £ | =
) E 3 &
= A A H
K > ® 8 .
# A A, 5 | W@t - Ao U
o i *
1l m | & . # | £ | B
A B # n Bt & $5 B & R LYl # A&
MIA b 156 46 152 3712 125 8 31 74 70 29 442 186 15
B 2 1 2 52 14 4 5 14 1 4 63 25 2
5 %51
B 60 £ | 922 1166  58.0 109.3 152.5 981 883 955 120.5 75.7 99.3 116.9  77.1
61 9.0 957 60.0 110.0 150.1 100.8 89.4 955 121.2 78.5 102.1 117.5 77.9
62 87.5 73.7 6.3 109.8 146.5 106.0 86.7 949 1204 78.8 1023 116.5 75.5
63 85.3 629 624 110.4 1455 111.9 83.8 961 117.3 79.2 103.1 117.1 745
TR 14T | 859 603 687 111.4 1442 1120 87.2 98.8 119.3 80.3 1057 121.2  75.7
2 88.5 76.0 74.0 112.7 1446 1123 87.6 101.3 121.0 826 110.6 127.5 76.4
3 93.7 845 751 113.5 1421 111.9 90.3 1044 122.8 853 113.0 131.4 71.6
4 95.1 81.8 75.3 117.2 146.6 1146 954 107.9 1240 889 117.1 139.6 81.4
5 9.0 822 80.8 117.6 143.6 1157 99.4 110.1 123.7 925 119.9 1455 103.0
6 95.5 810 835 118.3 1430 1125 107.0 111.8 1209 931 121.3 145.7 1141
7 95.8  78.6 837 1185 1439 1150 110.1 110.6 117.1 941 121.9 144.6 119.3
8 97.3  78.7 85.4 117.2 139.4 120.3 106.1 109.6 1147 947 119.8 141.9 120.2
9 101.1 831 89.6 118.7 139.3 121.9 106.3 113.3 1142  98.1 123.2 148.2 121.2
10 101.8 781 91.3 116.6 137.0 1153 106.0 110.3 112.4 99.6 123.7 148.6 121.2
1 101.8  70.1 931 116.0 1351 117.6 106.3 107.8 113.0  99.3 120.7 141.1 103.1
12 101.7 734 939 113.3 120.2 116.3 1053 1045 111.5 99.0 118.5 136.4 109.5
13 101.1 789 975 110.2 1221 1122 1046 105.2 107.1 99.4 116.7 131.9 103.8
14 100.4 76,5 98.4 108.3 118.3 106.6 103.8 106.2 1049  99.4 110.5 119.1 100.0
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